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QUESTION 1

What must happen before a process can be deployed as a web service?
A. An HTTP transport shared resource must be created.

B. An HTTP Receiver activity must be used.

C. A SOAP Event Sources activity must be used.

D. An abstract WSDL must be created.

Correct Answer: A

QUESTION 2

If flow control = X and the inbound rate is high enough, how many jobs are in the job pool?
A. X/I2to X

B. X

C.X-2to X

D. X-1to X

Correct Answer: A

QUESTION 3

When do Rendezvous Subscribers operate in a load-balanced fashion?
A. when the appropriate server type is selected

B. when the appropriate transport type is selected

C. when Auto Client ID is not selected

D. when Acquire Exclusive Lock is checked

Correct Answer: B

QUESTION 4
What are two characteristics of a Service Resource when implementing web services? (Choose two.)

A. used only for a single operation or endpoint
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B. added automatically to the PAR
C. used for one or many operations or endpoints
D. added manually to the PAR

Correct Answer: C

QUESTION 5

A process must handle over one hundred thousand records in a file, one at a time. Then a service must return each
record as either found or not found. Lastly, the process must record how many records were found and not found.
Which type of variable is most appropriate for this implementation?

A. Job Shared Variable

B. Global Variable

C. Process Variable

D. Shared Variable

Correct Answer: C
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